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AP Calculus AB Ch‘apter 1 Limits Review WS #2 Name:
x+5}x <2
2x—4
12,x = 2
1. glx) ={2x—=5 2<x<5 Find the following :
20,x =5
"ijj,x > 5
a) lim g(x) = b) lim g(x) = ¢) lim g(x) =
xX——00 x—2 x—27F
d)limg(x) = e) lim g(x) = ) lim g(x) =
x-2° " x5 . x—=5+
g) limg(x) = h) lim g(x) = D limgx) =
x5 x—3% X—00-

Use Continuity conditions to justify whether f{x) is continuous or discontinuous . If discontinuous, identify
type of discontinuity

2x2+5x>3
2) f(x):{ xe x <3

3) Find th‘e horizontal asymptote(s) of 4)Find lim x+1-2
o) == 3
6x2+11x—30
L—g x#*3
5) Let f(x) = { x-3 Which of the following is true? (Circle all that apply)
6 , x=3 - .

I. lim f(x) does not exist
x-3 )

ll. fis continuous atx =3

Il The line x = 3 is a vertical asymptote:




, x=25
B , x= —5

x2-27x+10 X225
6. letfx)=1 ~
. 4
a) Are the lines x = 5 and x = -5 vertical asymptotes? Justify answer
b) tdentify all horizontal asymptotes. Justify answer

¢} Is there a value of A that makes f continuous at x = 57

d) Is there a value of B that makes f continuous at x = -5

X 1 3 5

8

f(x) -2 4 10

6

7. 1f fis continuous on [1,8] and some values of f are given in the table above, which of the following must be true? Circle

all that apply.

I f{x) = -3 has-a solution-in [1,8]  H. f{x)="0 has=a-solution-in [1,8].
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AP Calculus AB

x+5

( x <2
2x—4
12, x =2
L. g)=+2x—5, 25%%
20,x =05
—x2+4’x>5
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a) lim g(x) =

Chapter 1 Limits Review #3_ Name: 52/“74‘5" kﬂ’z'

5 Find the following :

c) xli;g g(x) =

a) lirr% glx) =
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&) im g(x) =
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9) lim g(x) =

i) lim g(x) =

[+o2]

) lim g(x) =

[1]

Use Continuity conditions to justify whether f(x) is continuous or discontinuous . If discontinuous,

" identify type of discontinuity

NE3)= 26)+5 =23
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3) Find the horizontal asymptote(s) 4)Find lim Va+i-2 m+2
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5) Let f{x) ={?-—3 '
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x=3

>l>.§lim f(x) does not exist
x—3

I1.)f is continuous at x = 3
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Which of the following is true? (Circle all that apply)
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The line x = 3 is a vertical asymptote:
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a) Are the lines x = 5 and x = -5 vertical asymptotes? Justify a

A7
b) Identify all horizontal asymptotes. Justify answer {{

¢) Is there a value of A that makes f continuous at x = 57 765
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d} Is there a value of B that makes f continuous at x = -5 /\/"’ Since /“M‘WM%)JW Vér%m{/ﬂdi(ff ”‘jﬁ reos

X ) 1 3

5 8

f(x)- ’ -2 4

10 6

7. If fis continuous on [1,8] and some values of  are given in the table above, which of the following must be true?

Circle all that apply.

I. f(x) = -3 has a solution in [1,8] (/}’
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